Critique Of IATA Report ‘Aviation Taxes And Charges’

Introduction 

This report, IATA Economics Briefing No 2, is subtitled ‘A comparison of the level of the taxation, subsidies and charges for aviation and for other transport modes in Germany, France and the United Kingdom.

The authors are Mark Smyth and Brian Pearce, but IATA commissioned a transport consultancy to analyse the taxes, subsidies and charges.

The document is, as one would expect, a lobbying document. Its aim seems to be to head off threats to impose taxes on aviation “The aviation industry creates substantial economic value. Governments already reap the benefits airlines provide to economies. We are a heavily taxed industry.  We must ensure that unjustified new tax proposals do not add to this burden.”

The report and its conclusions

The study uses data from the EC UNITE study (UNIfication of accounts and marginal costs for Transport Efficiency). The data was analysed by the transport consultancy Mott MacDonald.  Taxes and charges for infrastructure paid by users of road, rail, light rail and aviation in Britain, Germany and France were collected and a ‘net contribution’ worked out for each. The net contribution is taxes paid less any subsidies, the latter being either operating subsidies or payment for infrastructure not covered by passenger charges.

The upshot of the study is “This report shows that the aviation sector currently pays a significant amount in terms of both taxes and user charges. Indeed, airlines already pay in full - and more - for their associated infrastructure costs. By contrast, rail and urban transit networks are heavily subsidised. Road users do pay a higher total amount of tax, but typically make a lower net contribution than the aviation sector on a per journey basis.”

A summary of the results for the UK follows. Figures are in million Euro; numbers in brackets are negative.

	
	Aviation 
	Road  
	Rail
	Light rail 

	Taxes and subsidies
	1,319
	43,724
	(2,297)
	(979)

	Infrastructure costs
	2,236
	12,728
	3,288
	2,071

	User charges 
	1,575
	259
	3,439
	-

	Net payment
	659
	31,255
	(2,146)
	(2,175)

	Net payment per journey in Euro
	4.8
	0.5
	(2.4)
	(2.3)


Comment and critique

The base data in UNITE has not been studied and no attempt has been made to carry out calculations or cross-checks. However, there is no reason to suppose that there any fundamental or deliberate errors. The work was carried out by an ‘independent’ consultancy, not by IATA itself, although it should be noted that Mott McDonald do a great deal of work for BAA.

The main flaws in the report are as follows:

1. The comparison is only between aviation and other transport modes. But an equally or more important issue is whether aviation should pay virtually no tax while other industries that use fuel (most) or other industries that support business and tourism.

2. Charges and taxes have fundamentally different objectives and the justifications and criteria of setting them at any particular level are quite different. Adding up charges and taxes and then comparing them between modes is therefore confusing and misleading.  A charge for, say use of airport infrastructure is simply a case of a one company supplying a service that is needed for another’s product and is thus an inescapable part of the cost of the product.  (It should be noted however that taxes and charges sometimes both need to be considered in the equation. For example, petrol tax can be regarded as a charge, being used to finance infrastructure.)            

3. Just because aviation “creates substantial economic value”, this is not an argument for users paying low taxes and charges. Most other sectors of the economy also contribute economic value but they pay significant tax (such as tax on fuel). 

4. The most obvious conclusion from the report is that rail (heavy and light) is highly subsidised. This is already well known and there are well-understood social, economic and environmental reasons for this. This study contributes nothing whatever to the debate.
5. Road transport is taxed much more heavily than air transport, but the IATA spins this by presenting the figures in terms of taxes and charges on a per-trip basis. For example, the contribution per flight in the UK is 4.8 euro compared with 0.5 per road trip.  This is an absurd comparison, since air trips are typically many hundreds of miles while road trips are typically just a few miles. Indeed the report itself gives the average car journey length as 10.6 km. So the tax per km is vastly less for air than by car.  

6. There is no attempt to calculate external costs. This is acknowledged; “beyond the scope of the report.”  But the report then claims that “significant progress is being made by the aviation industry in reducing these impacts”. This is probably not true as, due to increasing volumes, impacts are tending to go up. But even if it were true, that would be no justification for not paying for the external costs which do occur.  The report also claims there are ‘substantial positive externalities’, due to contributions the national and global economy. This is highly misleading, since such benefits are, in general, captured by the market system and are thus not ‘external’ at all.
